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INSTRUCTIONS: Answer Question ONE and any other TWO Questions

Q1. a) FCF Ltd is a follower of the residual dividend model. It expects next year's
net profit will amountfo Sh. 30m.) It has a capitah budg_et of Shto be

spent on long term investment projects. The company's capilai structure
is made up of 40% debt and 60% equity.’ The. company's objective is to

maintain its current caprta! structure A
o ]
i) What Wl” the company's payout ratio be next year? (6 marks)
) How~much will it add to7its retained earnlng_ for financing its
projects? -~ = - T T e " {1 mark) :
jif) How much will it borrow?- v N (1 marks) *

\

& b)) A company is evaluating an new project whose mmal investment
outlay is Sh. 250,000. The project will generate cash inflows of Sh.
50,000, .Sh. 60,000, Sh. 80,000, Sh. 100,000 ard“Sh. 150,000 in
e years 1t0 5. These cash flows are. unc/rtaln The associated risk
EETIS L adjustment. factors are 1, 0.9, 0.75, 0’5, 0.3 and-&=3and 0.2 form

i nsiey Ganfle~s year 0 to 5§ respertwely The company uses the certainty

:MJ&'J:v ﬂs%n,; equivalent approach to ipcorporate risk lnylts capital budgetm;
li;-."r;:h{v: i»w-* process. The risk adjusted discount rate is, 18% while the risk free

_ rate of return is 16%. Should thlS project be accepued'? Why?

. , (9 marks)
i) How much is th; ﬂ:ﬁ‘}l‘ preﬁmlum assoc:ated v.nth thls project? E
th%\6+r Sy il -—2 marks)
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- Q2.

« Q3.

Company P-~is financed by 100% equity at a cost of equity of.ZO‘Vg. Firm
[ om of debt at annual interést rate

R, is simitar to P, but financed by Sh 20 ’ :
of 12% and 5 million ordinary shares trading at Sh. 80 éach.. Using MMil
without taxes calculate the cost of Equity of firm R. (6 marks)

LI : . ,N\t‘{ P";‘C‘? )

Define shareholders wealth and explain how it is méasured. (2 marks)

e)  With an example distinguish between private placement and public
cffering of corporate bonds. . (3 marks)

Company T is a main producer of milk in the local market. It wants to acquire
firm R which is in the same sector. The shareholders of company T have
approached those of firm R for a possible acquisition and subsequently merge
the two firms. Further analysis shows that firm T has 20 million shares
outstanding, currently selling at Sh. 10 each. The cost of capital of firmTis 1§%

has 5 million shares outstanding currently selling at Sh. 6. Its cost of

o

Company
capital is T5%7 The shareholders of firm R have indicated a price of Sh. 7.50 per 7¢
share. This price car be paid either through cash or shares of firm\T. \u i
s ) S & . ,...‘.-l("-"' .
The estimated synergies from thé deal are currently value at Sh. 18m. | e -
» * i grint e @O\"”

2)  If payment is through cash calculate: Qi ¥ \¢P.7 - A

) The acquisition premium per share o (2 marks)

ii) The NPV to shareholders of firm T. {6 marks)
b) If payment is by shares :

i) How many shares will T need to issue? (2 marks)

ii) Calculate the NPV to shareholders of firm T. (6 marks)

»

With an example distinguish between a horizontal and a vertical merger.
' ' ' (4 marks)

c)
TLC Lid wants to expand its production activities. The project being considered
will involve acquisition of a new machine at a price of Sh. 850,000. Shipping and
instaflation charges for the machine are expected to total to' Sh. 50,000. The

machine will be depreciated over its 4 year life using straight line method. It is
expected to have a salvage value of Sh. 100,000 at the end of its economic life.

Additional information is as follows:

1) Incremental revenues wiil be Sh. 500,000, Sh. 600,000, Sh. 750,000 and Sh.

600,000 in years 1 to 4 respectively.
2) Incremental operating costs will be Sh. 250,000, Sh. 260,000, Sh. 280,000

and Sh. 260,000 in years 1 to 4 respectively.

e
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3) Fixed costs (excluding depreciation) will amount to .Sh. 10,000 per year. o

4) Initial networking capital amount to Sh. 50,000 and subsequently NVVC
naeds will be 20% of revenues. _ | X

5} To assess the fzasibility of this/project TLC itd paid external consuitanis a fee
cf Sh. 70,C00. 72 | ' e

" ) The company’s miinimum return on all naw projscts 1S i % p.at o

7) The company is in 30% corporate ta\x bracket. However any canitai Insses or

gaing are charged at 15%. i, i 24 |

Required: o°

A"
a\  Calculate the initial investment outlay - : (4 marks)
b) Calculate the reievant operating cash flows per year. (T marks)
c) Calculate the total cash flows per year. {5 marks)
d)  Shouid TLC undertake the project? Why? (4 marks)

&®  MCM Ltd has shares trading at the local exchange at Sh. 25 each. The company

needs to rais€ additional capital of Sh. 200m. The company can raise the capital
2ither through issue of bonds or ordinary shares.

a) If it sells shares, a total of 10m shares will be scld. Due to the deciine in

the demand for the company’s shares the new shares will be sold to the

public at a price of Sh. 23 each while MCM Ltd wi!l receive a ret of Sh. 20
" pet share. FAC Ltd will underwrite the issue on a firm corn,mitment basis.

: : A

i) Calculate the percentage underwriting spread??z (3 marks)

i) Calculate the percentage return to FAC Ltd.' %> " (3miarks) -

iif) if FAC Itd is able to sell only T&Shares, calculate the total

underwriting fee they will earn? How much does MCM Ltd receive?

(3 marks;

b) I7 it seils bonds 201,005 bonds wiii be s0ld at 2 price of Sh 1,0?0 te the
o investing public. FAC Ltd will have to pay Sh. 995 per bond to MCM Ltd.

i) Caiculate the percentage underwriting spread. (3 marks)
i) Calculate the percentage return to FAC Ltd. (3 marks)
RL‘?@) Which alternative is better for IﬂQM Ltd and why? ls the difference in the
wip ‘gwtc spread bgtween the two types of issues normal? (5 marks) :
Shoes o

—C—
L —
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nt value interest factors:

For a Single Amount = (1407
‘1—(1+r)—n

For an Annuity = £
*END*
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